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BEGINNING PARAGRAPH CORRECTION (1)

Direction: Read the passage below. Then answer questions about errors in the passage.

My name is @ _Jay Hammond | am a firefighter. @ 1 live in_128 Pine Lane, in Jackson,

Mississippi. I have two childs. One is a girl named Clair. ® The other ® is boy named Thatcher.

© His name after my father. | also have a wife named Jenna. She is (") beutiful. She has long, dark,

soft hair. ® We also got a dog named Buck. He is very obedient but sometimes he barks at night

and it upsets our neighbors.

1) My name is @ Jay Hammond | am a firefighter.

A) Jay. Hammond | am B) Jay Hammond. I am

C) Jay Hammond I’'m D) Jay Hammond, | am

2) 1 live @_in 128 Pine Lane, in Jackson, Mississippi.

A) on 128 Pine Lane, on B) in 128 Pine Lane, on
C) at 128 Pine Lane, in D) in 128 Pine, Lane in

3) I have ® two childs. One is a girl named Clair.
A) two child B) two children
C) two childrens D) Correct as is
4) ® The other © is boy named Thatcher.

A) Other B) Another
C) The another D) Correct as is

Lid) aglia 2t | olii g STEP 4 Jjalady) 4alll il JLad) ) guald ¢pdl) clldall g Ul ol 3o A iy giaal) g gz dadl) o8

Al g oaga (pa Ll o 3l Clagy Al Lludtl] 5 Lgaladin) (adld oY 33 Y .



L) agia 2 1 o185 g STEP 4ualad¥) dall) s JLAA) ) gaald () cilalUal) g cdUall Al 3 4 by giaall g 7 adll o2
At g oaga (pa Ll o 3 el Clagy Al Lpludil] 5 Lgaladin) (adld oY 3 Y

5) ® The other ©_is boy named Thatcher.

A) is boy name B) is boy of name

C) is a boy named D) is a boy who name

6) © His name after my father.

A) He is named after B) He has name from
C) His name is same D) He is same named
7) 1 also have a wife named Jenna. She is ”_beutiful. She has long, dark, soft hair.

A) butiful B) beautyful
C) beautiful D) beautifull

8/ We also ® got a dog named Buck. He is very obedient but sometimes he barks at
night and it upsets our neighbors!

A) got dog named Buck. B) got a dog name Buck.
C) got dog name of Buck. D) have a dog named Buck.
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BEGINNING PARAGRAPH CORRECTION (2)

Direction: Read the passage below. Then answer questions about errors in the passage.

This morning, 1 @ were making toast for ®_brekfast. Then | went to the basement ® _put some
clothes in the washer. | heard the smoke alarm. ¥ | think, “Someone is burning © something | put
the soap in the washer. When | got © up to stairs, everybody was running outdoors. Two fire trucks
and a police car were outside of my house. Smoke was coming out of my apartment! My kids

(" standing outside. They were ® weering their pajamas. My kids! Oh no! My toast!

1) This morning, | . were making toast for ¥ brekfast.

1 2
A) are A) breakfast
B) is B) breckfast
C) was C) breakfast
D) Correct as is D) breackfast

3) Then I went to the basement ) put some clothes in the washer. | heard the smoke alarm.

A) to put B) for put
C) to puts D) for putting

4) @ | think,“Someone is burning © something | put the soap in the washer.

1 2
A) Thinked A) something! |
B) I thinked B) something!” |
C) | thought C) something”! |
D) I am thought D) something”? |
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6) When | got © up to stairs, everybody was running outdoors. Two fire trucks and a police
car were outside of my house.

A) upstairs B) to upstairs
C) the upstairs D) Correct as is
7) Smoke was coming out of my apartment! My kids (") standing outside.
A) was standing B) are standing
C) were stand D) were standing
8) They were ® weering their pajamas. My kids! Oh no! My toast.

A) waring B) wareing

C) wearing D) Correct as is
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BEGINNING PARAGRAPH CORRECTION @)

Direction: Read the passage below. Then answer questions about errors in the passage.

My name is Thomas Martin. | live @ in a farm near Cedar Rapids, lowa. ®_I raises livestock and

grow corn on my farm. My © kid help me. ®_In the morning, we ® up very early to feed the

animals. © Everybody help milk the cows. Then I drive the kids to school. | work in ) the fields all

the day. When the children come ®_ home, we all work together.

1) My name is Thomas Martin. | live ' in a farm near Cedar Rapids, lowa.

A) in farm B) on farm

C) on a farm D) Correct as is
2) @ 1 raises livestock and grow corn on my farm.
A) raise B) raising

C) raised D) Correct as is

3) My® kid help me.

A) children B) child
C) kids D) All of the above are correct
E) Both A and B are correct F) Both A and C are correct

4) @ In the morning, we © up very earlyto feed the animals to feed the animals

A) In4morning, A) all up ve?y early

B) In a morning, B) wake up very early

C) On the morning, C) are waking up very early
D) Correct as is D) Correct as is
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6) © Everybody help milk the cows. Then I drive the kids to school.

A) Everyone helps B) Everybody helps

C) All of the above are correct D) None of the above are correct

7) 1 work in' the fields all the day.

A) the fields during day. B) the fields all day
C) the fields day. D) Correct as is

8) When the children come ®_home, we all work together.

A) home we all B) home, us all

C) home, we are all D) Correct as is
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BEGINNING PARAGRAPH CORRECTION @)

Direction: Read the passage below. Then answer questions about errors in the passage

My name is Jacqueline. | am ®)_a clerk at Dave’s Grocery Store. Sometimes | work at a cash

register. When @_I no working there I work © in the service counter. The grocery store has a ¥

bank a flower shop, and a pharmacy. ® There is an ATM © between the entrance. The store is on

Main Street. (V) All most everybody in town shops © to Dave’s.

1) My name is Jacqueline. | am ® a clerk at Dave’s Grocery Store. Sometimes | work at a cash
register.

A) clerk at Dave’s B) a clerk in Dave’s
C) a clerk at the Dave’s D) Correct as is

2) When @ 1 no working there I work ©_in the service counter.

Az) | not A) iﬁ the services
B) I am not B) at the service
C) I’'m not C) at service

D) Both B and c are correct D) Correct as is

4) The grocery store has a¥ bank a flower shop, and a pharmacy.

A) bank: a flower shop, B) bank. a flower shop,
C) bank, a flower shop, D) Correct as is
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5) ® There is an ATM © between the entrance.

5
A) Thereis a

B) Their is an
C) There are an

D) Correct as is

6
A) between entrance.

B) near the entrance.
C) near entrance.

D) Correct as is

6) ©_All most everybody in town shops © to Dave’s .

-
A) All most every body

B) All most everyone
C) Almost everybody

D) Correct as is

8
A) at Dave’s.

B) by Dave’s.
C) at the Dave’s.

D) Correct as is
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BEGINNING PARAGRAPH CORRECTION ()

Direction: Read the passage below. Then answer questions about errors in the passage

My name is Myuki. @ Today is Saturday March 4. @ | going shopping with my daughter Misuzu.

She is twelve years old. ® We are going to buy clothes. Misuzu wants “ new boots black and a

new winter coat. © | need new © pair the gloves. We are also going (" for buy a birthday present

for Misuzu’s friend. ® Tommorrow is her birthday. She is having a party.

1) My name is Myuki. Today is ¥ Saturday March 4.

A) the Saturday of March 4.
C) Saturday, March 4.

B) Saturday March the 4.
D) Saturday March Four.

2) @ 1 going shopping with my daughter Misuzu. She is twelve years old.

A) | am going shopping
C) | shopping

3) We ®are going to buy clothes.

A) are going buying
C) going buy

4) “ new boots black and a new winter coat.

A) new black boots
C) new blacks boots

B) I am going shop
D) I am shop

B) are go to buy

D) Correct as is

B) new boots blacks
D) news blacks boots
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5) © 1 need new © pair the gloves

5
A) | needs a new

B) I need a new
C) Need a new
D) Need new

6
A) pair of gloves.

B) pair of glove.
C) gloves a pair.

D) gloves the pair.

7) We are also going " for buy a birthday present for Misuzu’s friend.

A) to buy a birthday
C) for buy the birthday

B) to buy the birthday

D) Correct as is

8) ® Tommorrow is her birthday She is having a party.

A) Tomorow

C) Tomorrow

B) Tommorow

D) Tomorogh
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BEGINNING PARAGRAPH CORRECTION (6)

Direction: Read the passage below. Then answer questions about errors in the passage

The university library @ _open every day. Students go to the library early in the morning and @ _late
at night some students © work in the library all night! The lights are always on. There is a coffee
shop “ near to library. You can’t take coffee ® go into the library, but you can © take books into
the coffee shop. The library workers (_always very busy. The students are always © studying.
The library and the coffee shop are busy places!

1) The university library ® open every day.

A) open up B) is open
C) is open up D) is opens

2) Students go to the library early in the morning and @ late at night some students © work in
the library all night! The lights are always on.

A) late :t night. Some A) Work?iJn library

B) late in night. Some B) work at library

C) late in night. some C) work during library
D) late night some D) Correct as is

4) There is a coffee shop®near to library.

A) by the library B) by to the library
C) near the library D) Both A and C are correct
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5) You can’t take coffee ©) go into the library, but you can © take books into the coffee shop.

A) fgr go into the library, A) takigg the books
B) go into the library, B) taking books

C) into the library, C) take book

D) into library, D) Correct as is

7) The library workers (" always very busy.

A) are always very busy B) are very always busy

C) were always very busy D) always very are busy

8) The students are always ©® studying. The library and the coffee shop are busy places!
A) studing B) studdying
C) stundying D) Correct as is
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BEGINNING PARAGRAPH CORRECTION (7)

Direction: Read the passage below. Then answer questions about errors in the passage

Sam is an artist. He loves ™ paint and draw. He loves color. His @ favrit color is bright green. Sam

@ built his house. “_He’s house has two bedrooms, a kitchen, a bathroom, and one big room. ®©A

big room is Sam’s art room. The art room has many ® window larges. Sam () like paint in natural

light. Of course, ® Sams house is painted bright green!

1) Sam is an artist. He loves Y paint and draw. He loves color.

A) the paint and draw. B) do paint and draw.
C) to do the paint and draw. D) to paint and draw.

2) His @ favrit color is bright green.

A) favorit B) faverit

C) favorite D) faverite
3) Sam © built his house.
A) builded B) had builded

C) was builded D) Correct as is

4) ® He’s house has two bedrooms, a kitchen, a bathroom, and one big room.

A) He house has B) His house has

C) Him house has D) He is house has
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5) ® A big room is Sam’s art room.

A) An big room
C) This big room

6) The art room has many © window larges.

A) large windows

C) large window

7) Sam ) like paint in natural light.

A) likes to paint
C) likes the painting

B) The big room

D) Correct as is

B) windows large

D) Correct as is

B) like to paints

D) Correct as is

8) Of course,® Sams house is painted bright green!

A) Sam’s house

C) the Sam house

B) the Sam’s of house
D) the house that Sams
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BEGINNING PARAGRAPH CORRECTION )

Direction: Read the passage below. Then answer questions about errors in the passage

Dana and Mahmoud are married. Dana likes @ sing and dance. Mahmoud likes to read and write.

Dana @ _enjoys talking © In the telephone. Mahmoud likes to play ) chess Dana is studying drama

®)_in the university. Mahmoud is studying ® mathematic. Dana cooks big meals. Mahmoud eats

big meals. Dana and Mahmoud like () difference things. ® They love each the other.

1) Dana and Mahmoud are married. Dana likes Wsing and dance. Mahmoud likes to read and
write.

A) the sing and dance. B) to sing and dance

C) singing and the dance. D) Correct as is

2) Dana ® enjoys talking ® in the telephone.

A) enjgys the talking A) on th3e telephone.
B) is enjoying talks B) with the telephone.
C) enjoys to talk C) at the telephone.
D) Correct as is D) for the telephone.

E) Correct as is
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4) Mahmoud likes to play ® chess Dana is studying drama® in the university.

A)Archess, so Dana A) at5the university.
B) chess, but Dana B) of the university.
C) Chess, Dana C) on the university.
D) Chess. Dana D) about the university.

E) around the university.

6) Mahmoud is studying ©®mathematic. Dana cooks big meals. Mahmoud eats big meals.

A) mathematics B) mathmatique

C) matemathics D) mathmatics

7) Dana and Mahmoud like V) difference things ©® They love each the other.

A) tZ]e different things. A) Eachfioves the another.
B) difference things. B) They each loves other
C) different things. C) They loves each other.
D) things that differ. D) They love each other.
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BEGINNING PARAGRAPH CORRECTION (9)

Direction: Read the passage below. Then answer questions about errors in the passage

The post office is @ in downtown. There are ® a lots of people at the post office

) They are wait in line. Some people ¥ wants to buy stamps. © Others people want to mail

letters. Some people want to send © packeges. Some people want to pick up their mail. .

() There are’nt many parking spaces near the post office. There are a lot of cars in front

of the post ®office, the drivers are waiting for parking places and honking their horns.

1) The post office is ¥ in downtown.

A) downtown. B) at downtown.

C) in the downtown. D) at the downtown.

2) There are @ a lots of people at the post office ©) They are waitin line.

2 3

A) lot people A) They be waiting
B) lots people B) They are waiting
C) a lot of people C) They is waiting
D) alot of people D) They was waiting

E) They were waiting

4) Some people “ wants to buy stamps.

A) want buy B) want to buy
C) want to be buying D) wants to buying
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5) ®Others people want to mail letters.

A) Other people B) Other peoples
C) Others of the people D) Another people

6) Some people want to send © packeges.

A) package B) packages
C) paccages D) pakages

7) Some people want to pick up their mail.””_There are’nt many parking spaces near the post
office.

A) Their arent B) They’re ar’ent
C) There aren’t D) Correct as is

8) There are a lot of cars in front of the post ©® office, the drivers are waiting for parking places
and honking their horns.

A) office, so the B) office, but the
C) office. The D) Correct as is
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BEGINNING PARAGRAPH CORRECTION 10)

Direction: Read the passage below. Then answer questions about errors in the passage

Tomorrow | Y is going to sing a solo. I'm so ®_nervouse! There are so many things that could go

wrong. I’'m worried that my voice will shake. ¥ Maybe | going to open my mouth and no sound

will ®_comes out. What if I can’t sing the high ©_notes What if I ©_trip and fell down? What if |

fall off the stage? What if I sound ) terible? I hope I can ® do. I think I can.

1) Tomorrow | ) is going to sing a solo.

A) are going to B) will going to
C) am going to D) Both A and C are correct.

2) I’m so'® nervouse! There are so many things that could go wrong. I’m worried that my
voice will shake.

A) nervis B) nervose

C) nerveus D) nervous

3) ®Maybe I going to open my mouth and no sound will “comes out.

A) May?E)e | am going to open A)4come out.

B) Maybe | gonna open B) came out.

C) Maybe I will open C) be coming out.
D) Maybe | can open D) go out.
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5) What if I can’t sing the high © notes What if | © trip and fell down? What if | fall off the
stage?

A)5notes. What A) trip6 and fall

B) notes, what B) trip and fell

C) notes? What C) trip and fall down

D) notes, but what D) Both A and C are correct.

7) What if |1 sound ) terible? I hope I can ® do. I think I can.

7 8

A) terable A) do it.
B) terrable B) did it.
C) terrible C) done.
D) tearible D) done it.

E) Correct as is
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BEGINNING PARAGRAPH CORRECTION (11)

Direction: Read the passage below. Then answer questions about errors in the passage

Susanna came home @ from a work. She @ putted the key in the lock of the ©® apartament door.

She opened the door. She clearly heard a ) voise inside her apartment. Was it the TV? Was it the

radio? Was it her neighbor? ® She not know if she should ©® go in or run away! She couldn’t move.

She (V_couldnt think. She heard the soft sound of footsteps. She couldn’t breathe. The door slowly

opened. “Mom! What are you doing ® here” Susanna said, when she caught her breath. “Hi Honey!

Dad and | are cooking dinner for you! “

1) Susanna came home ™ from a work.

A) from work B) from the work

C) from the working D) Correct as is

2) @ She putted the key in the lock of the ©® apartament door.

2 3

A) put key A) apartment
B) put the key B) apartement
C) putted a key C) apartamente
D) putted the key D) apartemente

4) She clearly heard a “ voise inside her apartment. Was it the TV? Was it the radio? Was it
her neighbor?

A) boise B) boce
C) voice D) voce
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5) ® She not know if she should ©® go in or run away! She couldn’t move.

5 6
A) She did not knew A) go out
B) She didn’t knew B) go up
C) She was not knowing C) go through
D) She didn’t know D) Correct as is

7) She couldnt think. She heard the soft sound of footsteps. She couldn’t breathe. The door
slowly opened.

A) couldn’t think B) not could think
C) could not think D) Both A and C are correct.

8) “Mom! What are you doing © here” Susanna said, when she caught her breath. “Hi Honey!
Dad and I are cooking dinner for you! «

A) here?” B) here?”
C) here”. D) here”!
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BEGINNING PARAGRAPH CORRECTION (12)

Direction: Read the passage below. Then answer questions about errors in the passage

Where is that music coming _from Emma looks around. She sees women’s clothing to her right.

(@she sees men’s clothing to her left. She sees @ _childrens clothing  in front her. It sounds like

someone is ® plaing a piano. Emma walks down the aisle of the department store. The music gets
louder and louder. © She enter the jewelry department. The music gets even louder. () There is it!

A woman is playing the piano in the jewelry department! ©® It sound so nice!

1) Where is that music coming ™ from Emma looks around.

A) from? Emma B) from! Emma

C) from. Emma D) from, Emma
2) She sees women’s clothing to her right.'” she sees men’s clothing to her left.

A) She See B) She see
C) She Sees D) She sees

3) She sees @ childrens clothing “ in front her.

3 4
A) childs clothing A) at front of her
B) childsclothings B) in the front of her
C) children’s clothing C) on front of her
D) children’s clothings D) in front of her
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5) It sounds like someone is © plaing a piano. Emma walks down the aisle of the department
store. The music gets louder and louder.

A) plaeing
C) plaeying

B) playing
D) playeing

6) She ®enter the jewelry department. The music gets even louder.

A) is entering B) are entering

C) enters D) Correct as is

7) (O_There is it! A woman is playing the piano in the jewelry department! ® 1t sound so nice!

7 8
A) There it is! A) Sounds so nice!
B) Their it is! B) It is sounding so nice!
C) They’re it is!

C) It sounds so nice!

D) Correct as is D) Correct as is
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BEGINNING PARAGRAPH CORRECTION (13)

Direction: Read the passage below. Then answer questions about errors in the passage

Some days are good and some days are bad. Today is ' day bad. | woke up @ very too late. My

alarm clock ® not ring. I ran to take > a shower. I didn’t have © a towel | ran to find a towel. | got

dressed. I couldn’t find my socks. I ©® finally found my shoes and socks. | ran to the corner to catch

the bus. ’_He was leaving. | slowly walked home. Then | saw that my socks were two different

colors. I am going back ©® for bed.

1) Some days are good and some days are bad. Today is ' day bad.

A) bad day B) a bad day
C) a day bad D) the day bad

2) 1 woke up @ very too late.

A) too much late. B) much too late.
C) too late. D) Both B and C are correct.

3) My alarm clock ©® not ring.

A) not rang B) didnt ring
C) didn’t ring D) didn’t rang

4) 1 ran to take a “ _shower.

A) shawer B) schower
C) schawer D) Correct as is
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5) I didn’t have © a towel | ran to find a towel. I got dressed. I couldn’t find my socks.

A) towel. | B) a towel. |
C) towel, | D) a towel, I

6) I finally ©® found my shoes and socks. | ran to the corner to catch the bus.

A) found final my shoes B) final found my shoes

C) found finally my shoes D) Correct as is

7) () He was leaving. | slowly walked home. Then | saw that my socks were two different
colors.

A) It B) She
C) This D) They

8) 1 am going back ® for bed.

A) to bed B) at bed
C) in the bed D) to the bed
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BEGINNING PARAGRAPH CORRECTION (14)

Direction: Read the passage below. Then answer questions about errors in the passage

Yesterday evening we visited some friends. @ Their daughter and our daughter are friends. Their

daughter @have a cat. The cat just had 8 kittens. One kitten followed our daughter all evening.

When our daughter sat ®down the couch, the kitten sat at her feet. When our daughter “to outside,

the kitten followed her. When it was time to go ,the kitten followed our daughter ©® go our car.
When we opened the car ©door the kitten jumped into the car. Our daughter’s friend gave () the

kitten our daughter. We ®brout it home with us. But I'm allergic to cats!

1) Yesterday evening we visited some friends.®Their daughter and our daughter are friends.

A) They daughter B) Them daughter
C) They’re daughter D) Correct as is

2) Their daughter ® have a cat. The cat just had 8 kittens. One kitten followed our daughter all
evening.

A) has cat B) has a cat

C) have cat D) Correct as is

3) When our daughter sat ®'down the couch, the kitten sat at her feet.

A) on couch B) in couch

C) on the couch D) in the couch
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4) When our daughter ® to outside, the kitten followed her.

A) outside B) go outside

C) go to outside D) went outside

5) When it was time to go the kitten followed our daughter ®)go our car.

A) to our car B) go to our car

C) going our car D) went to our car

6) When we opened the car ©door the kitten jumped into the car.

A) door, the B) door. the
C) door, The D) door. The

7) Our daughter’s friend gave (") the kitten our daughter.

A) our daughter the kitten B) the kitten to our daughter
C) our daughter to the kitten D) Both A and B are correct

8) We ©® brout it home with us. But I’m allergic to cats!

A) brought B) brougth
C) brouht D) brought
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BEGINNING PARAGRAPH CORRECTION 15)

Direction: Read the passage below. Then answer questions about errors in the passage

I’'m Elena Guedon. @1 am from Paris France, but now | live @in Chicago Illinois. ®1 am

divorce. | have one son named Pierre. “Pierre is doctor at a large hospital in Chicago. ®He is

planning for get married. His girlfriend Cassie is a surgeon at the hospital. She is older than he is. |

am older than my ©ex-hubsand.”So | am worry about Pierre’s future. But Pierre is sure that ®him

and Cassie will be happy.

1/ I’m Elena Guedon.®’1 am from Paris France, but now I live @in Chicago Illinois.

1

A) am from Paris France, but
B) am from Paris, France, but
C) come from Paris, France, but
D) Both B and C are correct.

3) ®1 am divorce. | have one son named Pierre.

A) | got divorce.

C) I am divorced.

4/ @Pierre is doctor at a large hospital in Chicago.

A) Pierre is doctor at large hospital
C) Pierre is a doctor at a large hospital

2

A) on Chicago lllinois.
B) in Chicago lllinois.
C) in Chicago, Illinois.

D) from Chicago, Illinois.

B) I am a divorce.

D) | am a divorced.

B) Pierre is doctor at a hospital large
D) Pierre is doctor at a hospital large
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5) ® He is planning for get married. His girlfriend Cassie is a surgeon at the hospital. She is
older than he is.

A) He plans to get B) He plans for get
C) He is planning to get D) Both A and C are correct.

6) I am older than my®©ex-hubsand.

A) x-husband B) ex-husband

C) ex-hunsbad D) Correct as is

7) "So I am worry about Pierre’s future.

A) So | worry B) So | am worried

C) So am | worried D) Both A and B are correct.

8) But Pierre is sure that ("him and Cassie will be happy.

A) him and Cassie will happy. B) Cassie and him will happy.
C) he and Cassie will be happy. D) he and Cassie they will be happy.
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Beginning Paragraph Correction Answer Keys
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INTERMEDIATE PARAGRAPH CORRECTION (1)

Direction: Read the passage below. Then answer questions about errors in the passage

1 Well, its another rainy day. | wonder what 1 will do? First, I think I"1l take a walk around

the ® neyborhoodto stretch my legs. “ Second I’ll cook a big breakfast ©_with toast fruit eggs

and bacon. After that, | might mow my © lawn;_it’s_getting pretty long. I’'m not sure what I’ll do
after that. I guess | should go see my mother. I think she wants me to go grocery shopping with her. |
have no idea why she can’t just go by () her self. Or, better still, she could ask my dad to go with
her! | doubt he will want to go with her though. He ©® doesn’t like going to the grocery store as

much as | do!

1) @ Well, its another rainy day.

A) Well, it was B) Well, it isn’t
C) Well, it’s D) Correct as is

2) 1 wonder what @ | will do? First, I think I’ll take a walk around the ©_neyborhoodto
stretch my legs.

2 3
A) | would do? A) neighborhood
B) will 1 do? B) neiborhood
C) 1 will do. C) nayberhood
D) Correct as is D) nayborhood

E) Correct as is
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4) @ Second I’ll cook a big breakfast ® with toast fruit eggs and bacon.

4 5

A) Second will | A) with toast and fruit and eggs and bacon.
B) Second, I’'ll B) with toast, fruit, eggs, and bacon.

C) Second I’'m gonna C) with toast, fruit, eggs and bacon.

D) Correct as is D) Both B and C are correct.

E) Correct as is

6) After that, I might mow my © lawn; it’s getting pretty long. I’m not sure what I’ll do after
that. I guess | should go see my mother. | think she wants me to go grocery shopping with her.

A) lawn? It’s B) lawn: it’s

C) lawn! It’s D) Correct as is

7) I think she wants me to go grocery shopping with her. I have no idea why she can’t just go

by () her self. Or, better still, she could ask my dad to go with her! I doubt he will want to go
with her though.

A) themselves B) itself
C) herself D) Correct as is

8) He ® doesn’t like going to the grocery store as much as I do!

A) dislikes B) enjoys
C) likes D) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (2)

Direction: Read the passage below. Then answer questions about errors in the passage

Jaime ™ been applying for full-time jobs for several months. ¥ The last week he received a call

from the Human Resources director at a computer software ®_company the HR director asked

Jaime “ could he fly to Chicago for a job interview. The company offered to pay for Jaime’s plane
ticket to Chicago, so that he will not have to pay for it himself. Jamie agreed to come for the
interview. Since then, Jaime has been busy collecting © informaton about the company. He also
went shopping for a new © suite. Jaime and his wife have been rehearsing answers to possible

interview questions, so that Jaime will be (V_good and ready his best. Jaime is nervous about the

interview, but © his looking forward to working at a new place.

1) Jaime @ been applying for full-time jobs for several months.

A) have been applying B) has been applying
C) have applying D) has applied

2) @ The last week he received a call from the Human Resources director at a computer
software ©) _company the HR director asked Jaime “ could he fly to Chicago for a job
interview.

2 3 4

A) Last week A) company, The A) if he could fly

B) On last week B) company — the B) if could he fly

C) The week last C) company. The C) whether he could fly
D)Both A and C are correct. D) company! The D) Both A and C are correct.
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5) Since then, Jaime has been busy collecting ®informaton about the company.

A) informates B) information
C) imformation D) informashun

E) Correct as is

6) He also went shopping for a new © suite.

A) suit. B) siut.
C) suet. D) sewt.

7) Jaime and his wife have been rehearsing answers to possible interview questions, so that
Jaime will be (V.good and ready his best.

A) good. B) smart and ready.
C) prepared. D) studious.

E) Correct as is

8) Jaime is nervous about the interview, but ©® his looking forward to working at a new place.

A) he’s B) he is
C) he will be D) Both A and B are correct.
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INTERMEDIATE PARAGRAPH CORRECTION (3)

Direction: Read the passage below. Then answer questions about errors in the passage

I’ve had a terrible cold Mabout several days. I’ve been blowing my nose, sneezing, and coughing.

@I’m been eating chicken soup and drinking orange juice for a couple days. I’ve been taking aspirin

and © _coffesirrup since the weekend. I’ve been at home watching TV @for Monday. I’ve talked ©®

my mother on the phone every day of the ®'week, I’ve watched everybad movie that came on the

TV. I wonder ) I’ll well again. | wonder when | can go back to work. I'm ®tired of the cough,

sneezing, and complaining!

1) I’ve had a terrible cold Mabout several days. I’ve been blowing my nose, sneezing, and

coughing.
A) for several days. B) for days several.
C) during several days. D) for a few days.
E) Both A and D are correct F) Correct as is

2) @I’m been eating chicken soup and drinking orange juice for a couple days.

A) D’ve eating B) I’'m being eating
C) I’ve been eating D) I’ve being eaten
E) I be eating
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3) I’ve beentaking aspirin and ©coffesirrup since the weekend.
A) coffsirup

B) cofe syrup
C) cough syrup D) couhgh syrup
E) Correct as is
4) I’ve been at home watchingTV @for Monday.
A) by B) during
C) since D) once

E) Correct as is

5) I’ve talked ®my mother on the phone every day of the ©®week, I’ve watched every bad
movie that came on the TV.

5 6
A) to my mother A) week. I've
B) for my mother B) week: I’'ve
C) while my mother C) week; I’'ve

D) about my mother D) week - I've

E) Correct as is
F) Both A and C are correct.

E) Correct as is

7) 1 wonder ' ’ll well again. | wonder when | can go back to work. I’'m ®tired of the cough,
sneezing, and complaining!

7 8

A) when I’ll get well again. A) tired of a cough

B) when I’1l well again. B) tired of coughing

C) when | would get well. C) tired for coughing

D) whenever I’ll get well again. D) tired about coughing

E) Correct as is E) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION 4)

Direction: Read the passage below. Then answer questions about errors in the passage

When | turned the doorknob, ®it open easy.l was immediately @spicious; the door ®should of

been locked on a weekend at midnight. | “was carefully push the door open. It was pitch black

inside. I couldn’t even see my own hand on the doorknob. I heard a low growl and felt something

®brushed past me. What was it? A tiger...a lion...a wild beast? There he is ©said Mr. O’Malley,

owner of the building. “Come on, Butchy,” he called to the dog. “Time to go home.” Mr. O’Malley
looked at me for a moment. Then he V) said “I know, | know. I shouldn’t ®had left the door open. |

came back to lock it — and to find Butchy.”

1) When | turned the doorknob, ®it open easy.

A) the door opened easy. B) it opened easy.
C) the door easily opened. D) it opened easily

E) Correct as is

2) 1 was immediately @ spicious; the door © should of been locked on a weekend at midnight.

2 3
A) spisious A) should have been locked
B) suspicious B) should have been lock
C) suspishus C) should been locked
D) sespisious D) should be a locked
E) Correct as is E) Correct as is
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4) 1 Wwas carefully push the door open. It was pitch black inside. I couldn’t even see my own
hand on the doorknob.

A) careful pushed B) carefully pushed
C) was careful and pushed D) did carefully push

5) I heard a low growl and felt something ®brushed past me.

A) brush past me. B) brush passed me
C) brush passing me. D) brushed passed me.

E) Correct as is

6) What was it? A tiger...a lion...a wild beast?“6/ There he is ®said Mr. O’Malley, owner of
the building.

A) he is said” B) he is”, said
C) he 1s,” said D) he is,” say
E) he is,” asked F) he 1s,” replied

7) “Come on, Butchy,” he called to thedog. “Time to go home.” Mr. O’Malley looked at me for
a moment. Then he () said “I know, Iknow.

A) said, “1 B) said “,I
C) said, | D) Correct as is

8) I shouldn’t ®had left the door open. | came back to lock it — and to find Butchy.”

A) of left B) of leave
C) have left D) has left
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INTERMEDIATE PARAGRAPH CORRECTION (5)

Direction: Read the passage below. Then answer questions about errors in the passage

My fourth-grade son built an end table for me ®last week. He surprised me with it. | think it was

very sweet of him to build it for me. It is the most elegant little table ® | had ever own. | moved

®one of my other table out of the living room and replaced it with “new one. My daughter

commented that it didn’t match the ®furnechurein the living room, but it looked fine ©for me. My
neighbor mentioned that one of the legs of the table was a little bit shorter than the other legs, but it
looked great to me. My sister remarked that there was a nail sticking out of the side of the (”_table
because it looked okay to ®me | know the table has some imperfections, but my fourth-grade son

built it, and it looks perfect to me.

1) My fourth-grade son built an end table for me @ Ist week. He surprised me with it. |
think it was very sweet of him to build it for me.

A) in last week B) on last week

C) the last week D) Correct as is

2) It is the most elegant little table | had ever own.

A) | ever own. B) I ever owned.
C) I am ever owning. D) I have ever owned.

E) Correct as is

L) agio 2 15183 g STEP 4y jalady) 4alll s Lad) | guald o) ciladual) g cdUall Al da & il giacall g 7 Mail) 038
Al g oaga (pa Ll o 3l Clagy Al Lludtl] 5 Lgaladi) (adld oY 33 Y
48



L) agia 2 1 o185 g STEP 4ualad¥) dall) s JLAA) ) gaald () cilalUal) g cdUall Al 3 4 by giaall g 7 adll o2
At g oaga (pa Ll o 3 el Clagy Al Lpludil] 5 Lgaladin) (adld oY 3 Y

3) I moved ®one of my other table out of the living room and replaced it with®new one.

3 4
A) one of my other tables A) the one new.
B) one of end tables B) the new one.
C) one my end table C) a one new.
D) one my others of table D) a new one.

E) Correct as is

5) daughter commented that it didn’t match the © furnechurein the living room, but it looked
fine ©for me. My neighbor mentioned that one of the legs of the table was a little bit shorter
than the other legs, but it looked great to me.

5 6
A) furnitrue A) at me.
B) furniture B) to me.
C) furnichure C) about me.
D) furnachure D) on me.
E) Correct as is E) with me

F) Correct as is

7) My sisterremarked that there was a nail sticking out of the side of the () table because it
looked okay to ®me I know the table has some imperfections, but my fourth-grade son built it,
and it looks perfect to me.

7 8

A) table, or A) me. i

B) table, so B) myself. |
C) table, and C) me. |

D) table, but D) me, I
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INTERMEDIATE PARAGRAPH CORRECTION (6)

Direction: Read the passage below. Then answer questions about errors in the passage

The Whole department meets every Thursday afternoon for two hours. @There is twelve people in

our department. All the people in our department ®hard workers. Everyone comes in early and )

leaves late. We are all overworked. Nobody ever complains about the amount of work ®there is do.

But nobody works ©hard good enough to please Constance. That’s our boss. ("Anybody has ever

seen_her smile._Nobody has ever heard her say anything ©complimentry to anyone. When

Constance enters the room, everybody stops talking.

1) The ™ hole department meets every Thursday afternoon for two hours.

A) department hole B) entire department

C)total department D) great department

2) @ There is twelve people in our department.

A) There is twelve people B) They’re is twelve people
C) Their are twelve people. D) There are twelve people
E) They’re are twelve people F) Correct as is

3) All the people in our department © hard workers.

A) are hard workers. B) do the hard work.
C) hard works. D) are working hard.

E) Correct as is
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4) Everyone comes in early and “ leaves late.

A) leave B) is leaving

C) are leaving D) Correct as is

5) We are all overworked. Nobody ever complains about the amount of work ®there is do.

A) they is to do B) they have to do
C) their is to do D) they are have to do
E) Both A and B are correct. F) Both B and C are correct.

6) But nobody works ©hard good enough to please Constance. That’s our boss.

A) good hard enough B) good enough
C) enough hard D) hard enough

7) WAnybody has ever seen her smile.

A) Not anybody has ever seen B) Nobody has ever seen

C) Aint nobody ever seen D) Everyone has never seen

8) Nobody has ever heard her say anything ® complimentry to anyone. When Constance
enters the room, everybody stops talking.

A) complimentary B) conplimentary
C) complamentry D) complementary

E) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (7)

Direction: Read the passage below. Then answer questions about errors in the passage

My @brother in law is an actuary for an insurance company. He works with statistics every day. He

is extremely organized. He takes the same items to work every ®“morning a lunch bag, a thermos
®with coffee, and his briefcase. His lunch bag always contains the same things: “an_apple

raspberry yogurt and a tuna salad sandwich. He always ®carrys the same items in his briefcase:

his insurance documents, an extra tie, and an extra pair of socks. He takes the same route to work
every day: down First Avenue to the Interstate, Exit 246 to Dodge Rd., and right on Dodge Rd. to

the insurance company. © At work, he follows the same routine every day. After work, he always

forgets ("“where he park his car. ®1 guess it helps to be very organized when you are so forgetful!

1) My @ brother in law is an actuary for an insurance company. He works with statistics every
day. He is extremely organized.

A) brother-in-law B) brother-in law

C) brother-inlaw D) brother in-law

2) He takes the same items to work every ® morning a lunch bag,
a thermos © with coffee, and his briefcase.

2 3
A) morning; a A) and
B) morning: a B) of
C) morning, a C) full of
D) morning. A D) Either B or C would be correct.

E) Correct as is
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4) His lunch bag always contains the same things: ”_an apple raspberry yogurt and a tuna
salad sandwich.

A) an apple, raspberry yogurt, and B) an apple; raspberry yogurt; and
C)an apple - raspberry yogurt - and D) an apple, raspberry yogurt and
E)Both A and B are correct. F) Both A and D are correct.

5) He always ® carrys the same items in his briefcase: his insurance documents, an extra tie,
and an extra pair of socks.

A) carres B) carryes

C) carries D) caryes

E) Correct as is

6) He takes the same route to work every day: down First Avenue to the Interstate, EXit 246 to
Dodge Rd., and right on Exit 246 to Dodge Rd the insurance company. © At work, he follows
the same routine every day.

A) In work B) In a work
C)At the work D) Correct as is

7) After work, he always forgets ( where he park his car.

A) where he did parked B) where did he park
C)where he parked D) where did the car park

E)Correct as is

8) ® 1 guess it helps to be very organized when you are so forgetful!

A) |, guess it B) I guess, it

C)I could guess it D) Correct as is.
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INTERMEDIATE PARAGRAPH CORRECTION @)

Direction: Read the passage below. Then answer questions about errors in the passage

Dyears ago! Kelin was my student. | taught Western Civilization to her during her freshman year.

Since | was an @internacional teaching ®assistant | was aware that | spoke with an accent. | was

also aware that my students might have ideas that were very different from mine. Kelin often

snickered when I said something she “didnt understand. She often asked questions that put me on

the spot. ®All though | was sometimes hurt by her comments, | was always polite to Kelin. Several
days ago, | saw Kelin downtown. She approached me and ©said | learned so much in your class.

You were my favorite teacher at the () university” I was ®touch and amaze.

1) @ Years ago! Kelin was my student. | taught Western Civilization to her during her
freshman year.

A) Years ago, B) Years ago:
C)Years ago; D) Years ago-

2) Since | was an @internacional teaching ®assistant | was aware that | spoke with an accent. |
was also aware that my students might have ideas that were very different from mine.

2 3
A) internacionale A) assistant. |
B) internationale B) assistant, |
C) internasional C) assistant; |
D) international D) assistant: |
E) Correct as is E) Correct as is
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4) Kelin often snickered when | said something she “didnt understand. She often asked
guestions that put me on the spot.

A) did’nt understand. B) did not understand.
C)didn’t understand. D) Both B and C are correct.

E) Correct as is

5) ®_All though I was sometimes hurt by her comments, | was always polite to Kelin . Several
days ago, | saw Kelin downtown.

A) However B) Although
C)Even though D) Both B and C are correct
E) Both A and C are correct

6) She approached me and © said I learned so much in your class.

A) said, “I B) said “I
C)said- I D) said “I,

7) You were my favorite teacher at the (") university” I was ©® touch and amaze.

7 8
A) university. | A) touch and amazed.
B) university.” B) touched and amaze.
C) university, | C) touched and amazed.
D) university”. | D) touching and amazing.

E) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (9)

Direction: Read the passage below. Then answer questions about errors in the passage

It was the day of the big Ygame: and ®everyone is taking treats to school. My daughter wanted to

take a low-sodium treat for students in her Life Skills class. So, we decided to make banana bread.
Although my © receipe contains nuts, we decided to leave them out. Some students in my
daughter’s class are allergic to nuts, and she wanted everybody to be able to “_injoy her treat. We
made three kinds of banana ©® bread one with nuts, one with raisins, and one that was plain. The

banana bread ©were a big hit! Someone brought apple butter, so the ") students eaten banana bread

with apple butter. My daughter was happy that weekend for two reasons: the banana bread was good,

and her ®team school won the game!

1) It was the day of the big ®game: and _everyone is taking treats to school. My daughter
wanted to take a low-sodium treat for students in her Life Skills class.

il 2
A) game, and A) everyone are.
B) game! and B) everyone was
C) game; and C) everyone were
D) game. and D) everyone have
E) Correct as is E) Correct as is

3) So, we decided to make banana bread. Although my © _receipe contains nuts, we decided to
leave them out.

A) recipt B) reciepe

C)receipt D) recipe

E) Correct as is
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4) Some students in my daughter’s class are allergic to nuts, and she wanted everybody to be
able to® injoy her treat.

A) enjoi B) ingoy

C) enjoy D) engeoy

E) Correct as is

5) We made three kinds of banana® bread one with nuts, one with raisins, and one that was
plain.

A) bread: one B) bread, one
C) bread; one D) bread. One

6) The banana bread ©® were a big hit! Someone brought apple butter, so the (”_students eaten
banana bread with apple butter.

6 7
A)is A) students eating
B) was B) students eats
C) will be C) students eat
D) had been D) students ate
E) Correct as is E) students were eating

8) My daughter was happy that weekend for two reasons: the banana bread was good, and
her ® team school won the game!

A) team of the school B) teams school
C)school team D) schools team

E) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (10)

Direction: Read the passage below. Then answer questions about errors in the passage

WMy sister—in—law Darlene is running for office ®in our county. She wants a seat on the County
Board of Supervisors. There will be two seats open, and | think she has a good ©chanse of being
elected. The board regulates “salarys of county employees, makes some zoning decisions, and
cooperates with other local governments. It is considered a part-time job, but the ®)supervisors

always busy. People call them every time ©theresa problem I didn’t really know why she wanted

the job, so I asked her. "“Darlene, I said, “Why do you want this job? ©lt a lot of work!” “I want to

make a positive contribution to our county,” she replied.

1) My sister—in—® law Darlene is running for office ¥ in our county. She wants a seat on the
County Board of Supervisors.

1 2
A) law, Darlene A) at our county.
B) law, Darlene, is B) with our county.
C) law. Darlene, is C) about our county.
D) law: Darlene, is D) around our county.
E) Correct as is E) Correct as is

3) There will be two seats open, and | think she has a good © chanse of being elected.

A) chance B) schance
C) shance D) chence

E) Correct as is
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4) The board regulates  _salarys of county employees, makes some zoning decisions, and
cooperates with other local governments.

A) salareys B) calaries
C) salares D) salaries

E) Correct as is

5) It is considered a part-time job, but the ® supervisors always busy.

A) supervisor’s always busy. B) supervisor is always busy.
C) supervisors are always busy. D) supervisors were always busy.

E) Correct as is

6) People call them every time ®'theres a problem I didn’t really know why she wanted the job,
so | asked her.

A) they’res B) theres’
C) there’s D) theirs
E) their’s F) Correct as is

7) ) “Darlene, I said, “Why do you want this job? © It a lot of work!” “I want to make a
positive contribution to our county,” she replied.

7 8
A) “Darlene,” A)It’s
B) “Darlene” B) Its
C) “Darlene”, C) Itis
D) “Darlene?” D) Both B and C are correct
E) Correct as is E) Both A and C are correct
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INTERMEDIATE PARAGRAPH CORRECTION (11)

Direction: Read the passage below. Then answer questions about errors in the passage

Suraj is the IT manager in a small company. He manages all the computers and Msell phones in the
company. He also gives computer training to the workers every time @they’re is a large Update.

People ®often call Suraj about their computer problems. He always has a long list of problems he

needs “troubleshoot. Today he is going to replace a keyboard which no longer works ©write. Then

he is going to repair a problem with the company’s wireless connection. Suraj actually needs ©a

assistant to help with his work, but the company can’t afford to ("higher won.®Almost none work

gets done when the computers aren’t working work properly. Suraj is mindful of the importance of

his job.

1) Suraj is the IT manager in a small company. He manages all the computers and ©®_sell
phones in the company.

A) cel B) cell
C) sale D) seal
E) Correct as is

2) He also gives computer training to the workers every time  they’re is a large Update.

A) theyre B) their
C) there D) they are
E) Both C and D are correct. F) Correct as is

3) People @ often call Suraj about their computer problems.

A) call often Suraj B) often Suraj call

C) are often calling Suraj D) Correct as is
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4) He always has a long list of problems he needs  troubleshoot.

A) trouble shooted. B) two troubleshoot.
C)too troubleshoot. D) to troubleshoot.

5) Today he is going to replace a keyboard which no longer works ® write. Then he is going to
repair a problem with the company’s wireless connection.

A) rite. B) right.
C) wright. D) correctly.
E) Both A and B F) Both B and D

6) Suraj actually needs ) a assistant to help with his work, but the company can’t afford to
() _higher won.

6 7
A) an assistant A) hire won.
B) the assistant B) higher one.
C) this assistant C) high one
D) Correct as is D) hire one

E) Correct as is

8) ®Almost none work gets done when the computers aren’t working work properly. Suraj is
mindful of the importance of his job.

A) Almost any B) Very little
C) Very smalli D) Correct as is

INTERMEDIATE PARAGRAPH CORRECTION (12)

Direction: Read the passage below. Then answer questions about errors in the passage
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UMe and my wife are planning to go to our children’s school conferences later this week. We have

a son and a daughter. @our sun is in fifth grade, and our daughter is in ®three grade. We have

never been to a school conference in “united states before. We visited the elementary school when

®we register our children. We also visited the school during an Open House. At this conference,©®

we will be answering to the ("teachers, because we are both a little nervous about holding a

conversation in English. Our friends have told us that the teachers will show us our children’s
work.®We hoping we will not have to talk much. We have compiled a list of questions so we will

be prepared.

1) ®_Me and my wife are planning to go to our children’s school conferences later this week.
We have a son and a daughter

A) Me, my wife B) Me with my wife
C) My wife and | D) I and my wife
E) My wife and me F) Correct as is

2) @ our sun is in fifth grade, and our daughter is in © three grade.

2 3
A) our son are A) third class.
B) Our son is B) three grades.
C) Our son am C) third grade.
D) Our son be D) third grades.
E) Our son was E) the grade third.

F) Our son were
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4) We have never been to a school conference in  united states before.

A) the US B) the USA
C) the United States of America D) the United States
E) All of the above are correct F) Both B and C are correct

5) We visited the elementary school when © we register our children. We also visited the school
during an Open House.

A) we registered are children. B) we registered our children.
C) our children done registered. D) our children got registered.

E) our children became registered.

6) At this conference,® we will be answering to the ()_teachers, because we are both a little
nervous about holding a conversation in English. Our friends have told us that the teachers
will show us our children’s work.

6 7
A) chatting with A) teachers, rather
B) talking with B) teachers, unless
C) speaking to C) teachers, so
D) replying to D) teachers, yet
E) A, B, and C are correct E) Correct as is

F) Both A and B are correct

8) ® We hoping we will not have to talk much. We have compiled a list of questions so we will
be prepared.

A) We hope B) We will hope

C) We both hoping D) Both A and C are correct

E) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (13)

Direction: Read the passage below. Then answer questions about errors in the passage

My neighbor has a catering business. When people have parties at Ytheir homes, my neighbor cooks
for @them. she is a fabulous cook. Many customers contact her before they have a party. She asks
them ®alot of questions about the upcoming event. She finds out how people will be there. “Then

her_and the customer decide on a menu. My neighbor hires servers to serve the food and to

Gweight on the people. She usually cooks the meals in her own ©home, because sometimes people

ask her ("to_preparing the food at their houses. She enjoys ©'to do the working in her catering

business, and she is really good at all the parts of the job.

1) My neighbor has a catering business. When people have parties at ) their homes, my
neighbor cooks for ® them. she is a fabulous cook.

1 2
A) there A) them cause she
B) they’re B) them, She
C) they are C) them, but she
D) Correct as is D) them, so she
E) them. She

3) Many customers contact her before they have a party. She asks them ©_alot of questions
about the upcoming event.

A) lot B) a lots
C) alot D) lots
E) Both C and D are correct F) Both A and C are correct
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4) She finds out how people will be there. ® Then her and the customer decide on a menu.

A) Then, her and the customer B) Then she and the customer

C)Then, she and the customer D) Then, the customer and her

5) My neighbor hires servers to serve the food and to © weight on the people.

A) wait B) waits
C) weights D) wate

E) Correct as is

6) She usually cooks the meals in her own © home, because sometimes people ask her
(" to preparing the food at their houses.

6 7
A) home, but A) prepare
B) home but, B) to prepare
C) home, and, C) for prepare
D) home and, D) to do the preparing of
E) Correct as is E) Correct as is

8) She enjoys ©® to do the working in her catering business, and she is really good at all the
parts of the job.

A) to do work B) working
C) about working D) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (14)

Direction: Read the passage below. Then answer questions about errors in the passage

Renaldo had a job at a large corporation in YDallas Texas. He ®enjoys work there, but he thought

it could be run more efficiently. He pondered quitting his job, but ® _he had worries that he might

not be able to find another one easily. One day he was reading the classified “_adds in the

newspaper, and he saw his dream job. He applied for the ®_job, although he was hired. He moved

to the job which was in a © company more small. He almost immediately regretted his decision to

change jobs. Although the company was smaller, it was run just _as slowly as his previous

company. He called his former boss and asked for his old job back. Now he is back in his old office

at his old company, and he realizes that every job has ©®it’s advantages and disadvantages.

1) Renaldo had a job at a large corporation in ™ Dallas Texas. He  enjoys work there, but he
thought it could be run more efficiently.

1 2
A) Dallas Texas. A) enjoys to work
B) Dallas — Texas. B) enjoys working
C) Dallas, Texas. C) enjoyed working
D) Correct as is D) enjoy worked

E) Correct as is

3) He pondered quitting his job, but © he had worries that he might not be able to find another
one easily.

A) he worried B) he was worried
C) he was worrying D) All of the above are correct
E) Both A and B are correct F) Both A and C are correct
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4) One day he was reading the classified ) adds in the newspaper, and he saw his dream job.

A) adds in B) ads in
C) adds on D) ads on
E) adds at F) ads at

5) He applied for the ® job, although he was hired.

A) job, but B) job, so
C) job, and D) job, for

E) Correct as is

6) He moved to the job which was in a ©_company more small. He almost immediately
regretted his decision to change jobs.

A) smaller company. B) more small company.
C) smallest company. D) Both A and B are correct

E) Correct as is

7) Although the company was smaller, it was run just (" as slowly as his previous company. He
called his former boss and asked for his old job back.

A) as costly as B) as great as
C) as quickly as D) as incredibly as
E) as inefficiently as F) as insanely as

8) Now he is back in his old office at his old company, and he realizes that every job has
® jt’s advantages and disadvantages.

A) its B) its'

C)itis D) Both A and C are correct

E) Correct as is
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INTERMEDIATE PARAGRAPH CORRECTION (15)

Direction: Read the passage below. Then answer questions about errors in the passage

Marta is a “sophomore college. She is working on a degree in Special Education. She works as a

camp @councilor every summer. The camp is a special camp for children with ©®physical and

mental disadvantages. Marta helps the kids get exercise and ““make better their social skills. She

takes the kids swimming every afternoon in the summer. ®They goes bowl once a week. The

children really ©®like the camping out in tents. Marta Valways have wanted work with kids with

disabilities. ®'She is looking forward to a career in Special Education.

1) Marta is a Y sophomore college. She is working on a degree in Special Education.

A) college sophomore B) sophomore in college
C) sophomore at college D) Both A and B are correct
E) Both A and C are correct F) Correct as is

2) She works as a camp @ _councilor every summer.

A) counselor B) councelor
C) counsilor D) counsilor

E) Correct as is

3) The camp is a special camp for children with® physical and mental disadvantages.

A) problems. B) sicknesses.
C) illnesses. D) disabilities.
E) diseases. F) damage.
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4) Marta helps the kids get exercise and “ make better their social skills.

A) incline B) prove
C) increase D) improve
E) impass F) install

5) She takes the kids swimming every afternoon in the summer. ® They goes bowl once a week.

A) They do bowling B) They go bowling
C) They are going to bowl D) They were bowling

6)The children really © like the camping out in tents.

A) like to camp B) like to do camping
C) like camping D) Both A and C are correct
E) Both A and B are correct F) Correct as is

7) Marta () always have wanted work with kids with disabilities.

A) has always wanted to work B) have wanted always to work
C) always has wanted to work D) Both A and B are correct
E) Both B and C are correct F) Correct as is

8) ® She is looking forward to a career in Special Education.

A) She look forward to B) She looks ahead to
C) She is looking forward at D) She is looking at
E) Correct as is
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Infermediate Paragraph Gorrection Answer Keys
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ADVANCED PARAGRAPH CORRECTION (1)

Direction: Read the passage below. Then answer questions about errors in the passage

"To be, or not to be...that is the Yquestion” This @wellknown utterance has been the source of
both mystery and wonderment for students around the world since the turn of the 16"century—
arguably the zenith of Shakespeare’s creative output. However, the mere ubiquity of this phrase fails
to answer some basic questions about ®it’s rather context. Where did it come “from what does it

mean? The ®first of these questions (where does it come from?) can be answered fairly easily:

from Shakespeare’s famous play Hamlet. ©As for the last of the two questions, a complete answer

would require a more ("deep®look at Shakespeare an culture and nuance.

1) "To be, or not to be...that is the (Y_question” This ? wellknown utterance has been the
source of both mystery and wonderment for students around the world since the turn of the
16™"century—arguably the zenith of Shakespeare’s creative output.

1 2
A) question?” A) well known
B) question™? B) well-known
C) question.” C) widely-known
D) question”. D) Correct as is

E) question,”

F) Correctas is .
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3) However, the mere ubiquity of this phrase fails to answer some basic questions about © it’s
rather context.

A)itis B) its
C)a D) the
E) Correct as is

4) Where did it come ® from what does it mean? The © first of these guestions (where does it
come from?)can be answered fairly easily: from Shakespeare’s famous play Hamlet.

4 5

A) from? What A) first of these questions
B) from or what B) first interrogative

C) from, what C) primary

D) from? And what D) first one

E) Correct as is

6) ©_As for the last of the two guestions, a complete answer would require a more () deep ®
look at Shakespeare an culture and nuance.

6 7 8
A) As for the former question, A) in-depth A) conversation on
B) As for the latter question, B) deeper B) investigation of
C) As for the second one of the two C) extended C) thought about
D) Correct as is. D) serious D) talk about
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ADVANCED PARAGRAPH CORRECTION (2)

Direction: Read the passage below. Then answer questions about errors in the passage

My stepmother is the jenealogist of the family. She maintains records of births, deaths, marriages,

and divorces. She takes the job @real serious. She sends missives to the family ®whoever

something noteworthy occurs. We recently had a bulletin about “the demise of the relative during

the Civil War-which transpired a century-and-a-half ago. This ancestor apparently bequeathed his

old earthly possessions (some ®beautiful and antique furniture) to his progeny, who in turn

bequeathed their goods to their descendants. My husband’s great-grandfather, ©his_mother’s

father, has recently inherited some of this “beautiful antique furniture. My husband wonders if he
will one day pass heirlooms on to his progeny. ©I1fyes, we may inherit some new furniture, and my

stepmother will have even more to keep track of !

1) My stepmother is the @ _jenealogist of the family. She maintains records of births, deaths,
marriages, and divorces.

A) genealogist B) jeneologist

C) genealogist D) Correct as is

2) She takes the job @ real serious. She sends missives to the family ®_whoever something
noteworthy occurs.

2 3
A) very serious. A) whether
B) real seriously. B) whenever
C) really serious. C) whatever
D) very seriously. D) Both A and C are correct
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E) Correct as is E) Both A and B are correct

4) We recently had a bulletin about “ the demise of the relative during the Civil War-which
transpired a century-and-a-half ago.

A) a demise of the relative B) the demise of a relative

C) arelative’s demise D) Both B and C are correct
E) Both A and B are correct

5) This ancestor apparently bequeathed his old earthly possessions (some © beautiful and
antique furniture) to his progeny, who in turn bequeathed their goods to their descendants.

A) beautiful, but antique B) beautiful antique
C) beautiful or antique D) Correct as is

6) My husband’s great-grandfather, © his mother’s father, has recently inherited some of this
() peautiful antique furniture. My husband wonders if he will one day pass heirlooms on to
hisprogeny.

6 7
A) his mother’s father’s father, A) pedestrian
B) the father of his father’s father, B) dynamic
C) the mother of his father’s father, C) deleterious
D) Both A and B could be corre D) antiquated
E) exquisite

8) @ Ifyes, we may inherit some new furniture, and my stepmother will have even more to
keep track of !

A) If so, B) If not,t
C) This way D) If true,
E) Correct as is
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ADVANCED PARAGRAPH CORRECTION 33)

Direction: Read the passage below. Then answer questions about errors in the passage

Edward Murphy was a member of an Air Force team that performed complicated experiments during
the M1940s his work required much preparation and perfect execution. Murphy has become

renowned for Y Murphys’ Law,” which states that “if anything can go ®wrong it will.” This ©

somewhat funny observation has spawned a plethora of © corollaries. Such as Hofstadter's Law:

“It always takes longer than you expect, even when you take Hofstadter's Law into account.” ©

These smart comments on the perceived perversity of daily life have been published in ("several

books. Some of the volumes are general in ®scope; some pertain to technical careers in aerospace

or professional areas such as medicine or law !

1) Edward Murphy was a member of an Air Force team that performed complicated
experiments during the (Y1940s his work required much preparation and perfect execution.

A) 1940’s, his B) 1940s. His
C) 1940s! His D) 1940’s — his

E) Correct as is

2) Murphy has become renowned for ?“ Murphys’ Law,”

A) “Murphy’s Law,” B) Murphy’s Law,”
C) “Murphy’s Law”, D) “Murphys Law,”

E) Correct as is

3) which states that “if anything can go ®wrong it will.”

A) wrong, it will”. B) wrong it, will.”
C) wrong, it will.” D) wrong it will,”
E) Correct as is
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4) This “’ somewhat funny observation has spawned a plethora of © corollaries. Such as
Hofstadter's Law.

4 5
A) hilarious A) corollaries
B) lofty B) corolaries
C) comical C) corollarries
D) laughable D) corroleries
E) tenuous

E) Correct as is

5) © These smart comments on the perceived perversity of daily life have been published in

(N several books. Some of the volumes are general in ® scope; some pertain to technical careers
In aerospace or professional areas such as medicine or law !

6 + 8
A) witty musings A) several books, but some A) scope some
B) complex phrases B) several books: some B) scope. Some
C) detrimental utterances C) several books, some C) scope & some
D) sophisticated sayings D) Correct as is D) scope, while others

E) harmless annotations

Uil aglia 2 | glii g STEP 4 Jalady) 4alll il JLad) ) guald ¢pdl) cllldall g Ul ol 3o A iy giaal) g gz dLadll o8
At g oaga (pa Ll o 3l Clagy Al Lpludil] 5 Lgaladin) (add oY 33 Y

78



L) agia 2 1 o185 g STEP 4ualad¥) dall) s JLAA) ) gaald () cilalUal) g cdUall Al 3 4 by giaall g 7 adll o2
At g oaga (pa Ll o 3 el Clagy Al Lpludil] 5 Lgaladin) (adld oY 3 Y

ADVANCED PARAGRAPH CORRECTION )

Direction: Read the passage below. Then answer questions about errors in the passage

The Arctic fox is Ycompareble in size to the domestic cat. It inhabits the so-called ®kingdom of

the polar bear the area midway between Norway and the North Pole. This canine predator

®changes to extreme weather conditions. During the winter months, “it’s white coat is ideal

camouflage in these rough northern climates. The Arctic fox can roam all winter without

®hibernating its fur is the thickest of all Arctic mammals. Its insulation ©permits it to grow even

though winter temperatures normally fall to -50 degrees Celsius. When nutrition becomes scarce,
the Arctic fox may follow polar bears as they pursue seals on the ("perilous sea ice. This strategy is

®hazardous not only because of the possibility of falling into freezing water, but also because

polar bears will consume Arctic foxes if they can catch them.

1) The Arctic fox is ¥ compareble in size to the domestic cat.

A) comparable B) compareable
C) comparable D) comparable

E) Correct as is

2) It inhabits the so-called ® kingdom of the polar bear the area midway between Norway and
the North Pole.

A) kingdom of the polar bear, B) “kingdom of the polar bear”
C) “kingdom of the polar bear,” D) “,kingdom of the polar bear,”

E) Correct as is

3) This canine predator ©® changes to extreme weather conditions.

A) adjusts B) alters
C) flexes D) adapts
E )suits F) applies
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4) During the winter months, ) it’s white coat is ideal camouflage in these rough northern
climates.

A) a white coat. B) its white coat
C) it’s coat D) the white coat

E) Correct as is

5) The Arctic fox can roam all winter without © _hibernating its fur is the thickest of all Arctic
mammals.

A) hibernating, B) hibernating.
C) hibernating; D) hibernating:

E) Correct as is

6) Its insulation © permits it to grow even though winter temperatures normally fall to -50
degrees Celsius.

A) allows it to move even when B) enables it to survive, even though
C) sets it at a disadvantage, even where D) permits it to flourish, however
E) authorizes it to maintain, although F) Correct as is

7) When nutrition becomes scarce, the Arctic fox may follow polar bears as they pursue seals
on the ( perilous sea ice.

A) uninhabitable B) risky
C) heavy D) cautious
E) level F) Correct as is

8) This strategy is ®hazardous not only because of the possibility of falling into freezing water,
but also because polar bears will consume Arctic foxes if they can catch them.

A) hazardous. Not only because of B) hazardous, not only due to

C) hazardous. Not just because of D) Correct as is
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ADVANCED PARAGRAPH CORRECTION (5)

Direction: Read the passage below. Then answer questions about errors in the passage

Students and townspeople Pfreshly flocked to hear returning @professor, Dr. Willis give a speech.

Dr. Willis, a benevolent and ®compacionate advocate for the poor, spoke Sunday to the

congregation at the First Avenue Church. He was expected to be greeted by a full house at the Exeter

Theater Monday evening. The ®youthful ®professor at age 92 exhorts his listeners to show

empathy for citizens mired in poverty and joblessness. Haunted by personal memories of the Great

Depression, he abjures opulence and © urges frugal behavior. He encourages (Vengaging in heavy

food and drink, and attributes his own ©decrepitude to diligent work and a prudent life style.

1) Students and townspeople ® freshly flocked to hear returning ® professor, Dr. Willis give a
speech.

1 2
A) just now A) professor, Dr. Willis,
B) a moment ago B) professor Dr. Willis
C) recently C) professor Dr., Willis
D) newly D) Correct as is

E) Correct as is

3) Dr. Willis, a benevolent and ©) compacionate advocate for the poor, spoke Sunday to the
congregation at the First Avenue Church.

A) compassionate B) compactionate
C) compassionate D) conpacionate
E) compashionate F) Correct as is
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4) He was expected to be greeted by a full house at the Exeter Theater Monday evening. The
youthful ® professor at age 92 exhorts his listeners to show empathy for citizens mired in
poverty and joblessness.

4 5
A) laudatory A) professor, at age 92
B) archaic B) professor at age 92,
C) supercilious C) professor: at age 92
D) bombastic D) professor: at age 92 -
E) venerable E) professor, currently 92,
F) Correct as is F) Correct as is

60 Haunted by personal memories of the Great Depression, he abjures opulence and © urges
frugal behavior.

A) disdains parsimony. B) extols mendaciousness.
C) urges prodigal behavior. D) eschews spendthrifts.
E) Both B and C are correct. F) Correct as is

7) He encourages (" engaging in heavy food and drink, and attributes his own © decrepitude to
diligent work and a prudent life style.

7 8
A) abstinence from A) senility
B) acceptance of B) passion
C) the consumption of C) magnificence
D) indulgence in D) longevity
E) Correct as is E) affability
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ADVANCED PARAGRAPH CORRECTION (6)

Direction: Read the passage below. Then answer questions about errors in the passage

Jerry was recently informed of an upcoming test in statistics, which is a required portion of his

@ Ph.D. curriculum although hearing about the upcoming test, Jerry has acted ®passionate and
uninterested in social activities. This behavior is an aberration for ®him, he is normally quite

gregarious and ebullient. Al his friends concur that his recent behavior has some ©correlation

with the exam. Everybody has tried to evoke some of his normal ©despair, but to no avail. His

behavior is very disconcerting. ("They seem that efforts to bring out his usual exuberance only

exacerbate his malaise. | believe the only antidote to ®Jerrys uncharacteristic behavior to be
unmitigated success on his statistics exam.
1) Jerry was recently informed of an upcoming test in statistics, which is a required portion of

his @ Ph.D. curriculum although hearing about the upcoming test, Jerry has acted
passionate and uninterested in social activities.

0 2
A) curriculum. While A) aloof
B) curriculum. Rather than B) abandoned
C) curriculum. Since C) dissociated
D) curriculum. Before D) disinterested
E) curriculum. However E) disparate
F) Correct as is F) Correct as is

3) This behavior is an aberration for ®him, he is normally quite gregarious and ebullient.

A) him he B) him: he
C) him; he D) him - he
E) Correct as is
Uil aglia 2 | glii g STEP 4 Jalady) 4alll il JLad) ) guald ¢pdl) cllldall g Ul ol 3o A iy giaal) g gz dLadll o8
At g oaga (pa Ll o 3l Clagy Al Lpludil] 5 Lgaladin) (add oY 33 Y

83



L) agia 2 1 o185 g STEP 4ualad¥) dall) s JLAA) ) gaald () cilalUal) g cdUall Al 3 4 by giaall g 7 adll o2
At g oaga (pa Ll o 3 el Clagy Al Lpludil] 5 Lgaladin) (adld oY 3 Y

4) @ All his friends concur that his recent behavior has some © correlation with the exam.
5
A) corelacion

4
A) His friends
B) His friends all
C) All of his friends
D) All of the above are correct
E) Both A and B are correct
F) Both A and C are correct

B) correlasion
C) correllation
D) correllasion
E) Correct as is

6) Everybody has tried to evoke some of his normal © despair, but to no avail. His behavior is

very disconcerting.
B) negligence

D) diffidence
F) Correct as is

A) conviviality
C) austerity
E) ostentation

7) VThey seem that efforts to bring out his usual exuberance only exacerbate his malaise.

B) It seems that efforts

A) Our efforts, they seem
D) It seems the only efforts

C) It seems that efforts only
E) Seemingly the efforts F) Correct as is

8) 1 believe the only antidote to ® Jerrys uncharacteristic behavior to be unmitigated success
on his statistics exam.

B) Jerry’s

A) Jerries
D) Correct as is

C) Jerrys’
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ADVANCED PARAGRAPH CORRECTION (7)

Direction: Read the passage below. Then answer questions about errors in the passage

The view of star formation offered by the Spitzer Space Telescope is one of Mdisruption through
the telescope’s lens, it can be seen that the creation of a star disrupts nearby space. The Spitzer Space

@Telescope launched in 2003 contradicts the widely held ®'thinking that mellifluous gas clouds

gracefully @provide the creation of new stars. Early models of star ®making concentrated on the

evolution of isolated stars, whereas recent models have recognized that stars ©interact with the

other in their stellar neighborhood. The relative low count of the stars ©were attributed to the

turbulence that these processes bring to the heavens.

1) The view of star formation offered by the Spitzer Space Telescope is one of disruption
through the telescope’s lens, it can be seen that the creation of a star disrupts nearby space.

A) disruption. B) disruption:
C) disruption, D) disruption -

E) Correct as is

2) The Spitzer Space @ Telescope launched in 2003 contradicts the widely held © thinking
that mellifluous gas clouds gracefully ® provide the creation of new stars.

2 3 4
A) Telescope, launched in 2003 A) idea A) manage
B) Telescope launched in 2003, B) plan B) facilitate
C) Telescope, launched in 2003, C) pact C) hinder
D) All of the above are correct D) secret D) mollify
E) Both A and C are correct E) Correct as is

F) Both A and B are correct
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5) Early models of star ® making concentrated on the evolution of isolated stars, whereas

recent models have recognized that stars © interact with the other in their stellar
neighborhood.

5 6
A) beginning A) interact with one other
B) life B) interact with one another
C) history C) interact with each another
D) formation D) All of the above are correct
E) adaptation E) Both A and C are correct
F) gazing F) Both and C are correct

7) The relative () low count of the stars ® were attributed to the turbulence that these
processes bring to the heavens.

i 8
A) paucity A) can to be attributed
B) abundance B) are being attributed
C) plethora C) can be attributed
D) discrepancy D) able to attributed
E) few E) Correct as is
F) finality
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ADVANCED PARAGRAPH CORRECTION (8)

Direction: Read the passage below. Then answer questions about errors in the passage

The atom is the basic building block of matter. One interesting aspect of the atom is its spatial

composition. @ Surprisingly, it is largely built from empty @space its nucleus made of protons and

neutrons, ®'makes up only about a billionth of the atom itself. Another surprising aspect of the atom
is its structure.  Because most of us maintain a mental model of the atom’s nucleus being orbited

by discrete electrons, the ®reality is way different than that traditional depiction. Scientists now

prefer to describe the movement of electrons around the nucleus as a so-called ©“wave-pattern

cloud. In addition, models predicting the placement of electrons within the cloud is described as

one probability among many, ®instead than depicting planet-like electrons orbiting a sun-like
nucleus.
1) The atom is the basic building block of matter. One interesting aspect of the atom is its

spatial composition. Surprisingly, it is largely ' built from empty @space its nucleus made of
protons and neutrons, » makes up only about a billionth of the atom itself.

1 2 3
A) made from A) space, it’s nucleus A) creates
B) composed of B) space. it’s nucleus B) comprises
C) designed of C) space - it’s nucleus C) establishes
D) been calculated by D) space - its nucleus, D) produces
E) a product of E) space: its nucleus, E) Correct as is
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4) Another surprising aspect of the atom is its structure. ® Because most of us maintain a

mental model of the atom’s nucleus being orbited by discrete electrons, the ®'reality is way
different than that traditional depiction.

4 5
A) However A) reality much more sophisticated than
B) Instead B) reality is not nearly as close to
C) Although C) reality differs considerably from
D) Conversely D) actuality is not so simple as
E) Even if E) fact is not as clear as

6) Scientists now prefer to describe the movement of electrons around the nucleus as a so-
called © “wave-pattern cloud.

A)“wave-pattern cloud”. B) “wave-pattern cloud”.

C) wave-pattern cloud?” D) “wave-pattern cloud,”

E) “wave-pattern cloud!”

7) In addition, models predicting the placement of electrons within the cloud ")is described as

one probability among many, ® instead than depicting planet-like electrons orbiting a sun-like
nucleus.

7 8
A) are now being described A) rather than
B) are now a figure B) notwithstanding
C) now are described C) instead of
D) describe D) however
E) Correct as is E) Both A and B are correct

F) Both A and C are correct
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ADVANCED PARAGRAPH CORRECTION (9

Direction: Read the passage below. Then answer questions about errors in the passage

Urban planners in 16th century Shibam, Yemen created a walled city, now dubbed YManhattan of

the desert Their city @is composed of 500 buildings, ranging from five to eight stories in ®height.

Structures erected by wealthy families during the Middle Ages in “Ireland Scotland France Spain

and Greece also reached heights of several stories. These buildings are thought ©'to be constructed

upwards in order to ©®run_off marauders. Today’s urban planners anticipate a (“mile-high-
skyscraper to be constructed in the near future. A British engineering company is reportedly in the

process ©'to design such an immense tower now.

1) Urban planners in 16th century Shibam, Yemen created a walled city, now dubbed
(UManhattan of the desert Their city Pis composed of 500 buildings, ranging from five to eight
stories in ®height.

1 2 3

A) “Manhattan of the desert”. A) was A) hieght

B) “Manhattan of the desert.” B) were B) width

C) The Manhattan of the desert. C) will be C) length

D) Manhattan of the desert. D) is going to be D) Correct as is
E) Correct as is E) has been
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4) Structures erected by wealthy families during the Middle Ages in “Ireland Scotland France
Spain and Greece also reached heights of several stories.

A)lreland, Scotland, France,Spain, B) Ireland, Scotland, France, Spain and Greeceand Greece
C) Ireland; Scotland; France; Spain; and Greece D) Both A and B are correct
E) Both B and C are correct

5) These buildings are thought ®to be constructed upwards in order to ©run off marauders.
Today’s urban planners anticipate a "mile-high-skyscraper to be constructed in the near
future.

3) 6 7
A) to have constructed A) thwart A) mile-high skyscraper
B) to had been constructed B) mollify B) mile of high skyscraper
C) to have been constructed C) trick C) skyscraper of a mile high
D) to has been constructed D) enrage D) mile high-skyscraper
E) Correct as is E) engage

8) A British engineering company is reportedly in the process © to design such an immense
tower now.

A) to design B) of designing
C) to designing D) about designing
E) Correct as is

Uil aglia 2 | glii g STEP 4 Jalady) 4alll il JLad) ) guald ¢pdl) cllldall g Ul ol 3o A iy giaal) g gz dLadll o8
At g oaga (pa Ll o 3l Clagy Al Lpludil] 5 Lgaladin) (add oY 33 Y

90



L) agia 2 1 o185 g STEP 4ualad¥) dall) s JLAA) ) gaald () cilalUal) g cdUall Al 3 4 by giaall g 7 adll o2
At g oaga (pa Ll o 3 el Clagy Al Lpludil] 5 Lgaladin) (adld oY 3 Y

ADVANCED PARAGRAPH CORRECTION 10)

Direction: Read the passage below. Then answer questions about errors in the passage

Almost two Mthousands of years after being @baried by falling ash from a two-day volcanic

eruption, Pompeii reveals fascinating details about ®)day to day life in the Roman Empire.

“Pompeii’s population roughly 20,000 inhabitants practiced several religions. This is evidenced

by temples dedicated to the Egyptian goddess Isis, as well as the ®)presense of Jews and worshipers
of Cybele (called the “Great Mother” by her followers). Pompeii’s citizens practiced all of these
religions in apparent peaceful coexistence with followers of the state religion, ©but worshipped

Jupiter and the Roman ("emperor they led astonishingly long lives, assisted by doctors and dentists,

and ®were very well educated.

1) Almost two Mthousands of years after being @baried by falling ash from a two-day volcanic
eruption, Pompeii reveals fascinating details about ®)day to day life in the Roman Empire.

1 2 3
A) centuries A) buryed A) day-to-day life
B) decades B) baryed B) day today life
C) millennia C) buried C) daily life
D) lifetimes D) buryied D) Correct as is
E) Correct as is E) beried E) Both A and C are correct

4) “Pompeii’s population roughly 20,000 inhabitants practiced several religions.

A) Pompeii’s population, roughly 20,000 inhabitants.
B) Pompeii’s population roughly 20,000 inhabitants,
C) Pompeii’s population, roughly 20,000 inhabitants,
D) Correct as is

Uil aglia 2 | glii g STEP 4 Jalady) 4alll il JLad) ) guald ¢pdl) cllldall g Ul ol 3o A iy giaal) g gz dLadll o8
At g oaga (pa Ll o 3l Clagy Al Lpludil] 5 Lgaladin) (add oY 33 Y

91



L) agia 2 1 o185 g STEP 4ualad¥) dall) s JLAA) ) gaald () cilalUal) g cdUall Al 3 4 by giaall g 7 adll o2
At g oaga (pa Ll o 3 el Clagy Al Lpludil] 5 Lgaladin) (adld oY 3 Y

5) This is evidenced by temples dedicated to the Egyptian goddess Isis, as well as the ©®
presense of Jews and worshipers of Cybele (called the “Great Mother” by her followers).

A) present B) presents
C) presence D) precence

E) Correct as is

6) Pompeii’s citizens practiced all of these religions in apparent peaceful coexistence with
followers of the state religion, ®but worshipped Jupiter and the Roman Pemperor they led
astonishingly long lives, assisted by doctors and dentists, and ©were very well educated.

6 1 8

A) which A) emperor. They A) were really well

B) what B) emperor; they B) to our surprise, well
C) and C) emperor - they C) to everyone’s surprise, well
D) who D) emperor, they D) were super

E) so E) Correct as is E) Correct as is
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Advanced Paragraph Correction Answer Keys
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Infermediate Paragraph Correction Answer Keys
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